= s 5 oo G fyra brik, ordningsfoljd

namn: Datum: Poéng:
3 1 2 1
- +20x - +10= - =10+ ==
3 0><2 0 6O><3 0 5
121><§+11+1= 1—48x§+8:
2 2 6 5
1 1 1 1
——24x-=+3= 4% - +T7+ ==
;s 3773
35><3;7+1— 1—1+1><2—
5 5 4 3 4 5
1 3 I 3 1 2
5—30><ZT6— g—g—gxg_
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fyra brak, ordningsfoljd

namn:

3 1
21 x =11+ =-=17
2 2

1 1 1 |
X3 ()= (-]
;x5 3= =Clg)

1 3 13 1
5_30 x 276— (_Z)_(_3Z)

Datum: Poéng:
2 1 9 1
6OX3 0 2 2 2
1 3 103 13
g Bx38=C5)=35p)
1
3 5 1
1 1 1 2 1
—_— —F — X - = —
4 3 4 5 60
1 3 1 2 2
_—_—_><_=(—_)
3 5 3 5 5
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